TRANSFORMATIONS OF GRAPHS OF TRIGONOMETRIC FUNCTIONS
1 Sketch the graph of each of the following, stating the period and amplitude of the function

(@ y=4sinx,0<x<2rm

(d) y=4sin3x,0<x<2rx

(b) y=cos2x,0<x<2rm

() y=3cos2x,0<x<2rm

() y=3tanx, -

() y=3tan2x, -
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2 Which diagram shows the graph of y = 3sm forO0<x<4n? hde [3 +3]
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TRANSFORMATIONS OF GRAPHS OF TRIGONOMETRIC FUNCTIONS
3 Sketch the graph of each of the following, stating the period and amplitude of each function:

(@) y=3sin—§-,—n’$x£7t (b) y=2cos§,osxsm (c) y=3tan§.0$xsz;r

See  DESTIOS

4 Sketch the graph of y = cosx, 0 < x < . On the same axes, sketch the graph of:
(@ y=-cosx (b) y=1-cosx

DESNOS

—. 5 Sketch the graph of y = sinx, = < x < . On the same axes, sketch the graph of:
(@ y=2sinx (b) y=-2sinx () y=3-2sinx

DESMOS
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TRANSFORMATIONS OF GRAPHS OF TRIGONOMETRIC FUNCTIONS
9 Sketch the graph of each of the following.

(a) y=25in(8—%) (b) y=3cos(9+%) (c) y=2sin(6-n)
DESIS

(d) y=5c053(9+§) (e) y=%tan2(9+ﬂ) (f) y=ﬁsin(29—%)
DESAOS
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TRANSFORMATIONS OF GRAPHS OF TRIGONOMETRIC FUNCTIONS
10 Sketch the graph of each:

(@) y=sin26+1 (b) y=3cosO-2 (c) y=—é—sin(9—%)+3
DESNOS

(d) y=2c052(0——§—)+1 (e) y=4sm3(9—%)—2 () )’=3—sin(0—%)
DES0S
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TRANSFORMATIONS OF GRAPHS OF TRIGONOMETRIC FUNCTIONS

11 By adding ordinates, sketch the graphs of:
(@ y=sinO+cosb (b) y=3sin20+4sinf (€) y=2cos30+ 3sin26

DESNOS

(d) yzsinZB—cosﬂ (e) }z%cosZO—sinG () }’zsin9+sin20

DESTIOS

Page 5 of 6



TRANSFORMATIONS OF GRAPHS OF TRIGONOMETRIC FUNCTIONS
13 By drawing appropriate graphs, solve each equation for 0 < x< 2.

(a) ﬁtan(x-%)—l:O

(b) Zﬁcos(x+4) 3=0

(c) ﬁsin(x+%)+l=0
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